EARAROBEEIERT — 2 N— IBISH —F

20124F9A230 (B) 4EIHWU7H

MW oR2E S

[(E7E] Hin

‘ [Ri&] & ‘ [RERBE] — | Z (%) 1600M FHE

[~E%] 1 #%:7,000,000 @ ~ 23 :2,800,000MH ~ 33&:

1,800,000 § . 4 & :1,100,000 H 5 & : 700,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. o2 | HEES 1:38.1 9-11-10 | 35.6| — 8 468 | AZHEEE (i)
11l bANTEYF 54.0 =) (=) |BEhigz
L:4=/x¥LLy b B:LFULT F0O4%
= 1) 42 | AEFT 1:38.3 7-1-9  |35.9| — 3 462 | ERER ()
1 : DEEEZUPE 540 d 1/4) ) |HlESs
R:V2RYIYRIRX B:E2HFHALUR KRB S
ZHER . -3 - KERB— (E#)
sl 7 %> va-naan w3 R
R:rh—> B:LTF1R2R FIE
. s 2 | 2L 1:38.4 7-9-7 | 36.2| — 13 | 402 |@ME= (EH)
4 g| N7~ 54.0 1/2) (—) |FERE
RFALNTyTIE BYLIA N TUF o JIAPL—Z T8~
S SO o2 | ARHER 1:38.6 4-6-5 |36.6| — 9 440 | EFEH (EH)
58|15 XA R AT 54.0 (1 '1/4) ) |mEsE
b=t AR BTV ERRAYT BEAZXZY K
= . 4 2 | EHEEA 1:38.6 2-2-2 |37.5| — 5 458 | REEMR— ()
6|5/9|TNUT> 54.0 (hF) ) |mmir
LT v TRy b B Ry raY T — BROUE D5
RS TN 4 o2 | ERA— 1:38.7 4-5-5 |36.8| — 16 | 420 |MHEEE (E#)
718/16| J—H— A% b 4510 (2 oy | S5
R:F15280 B:Y—H—<% palrae]
> S “ 4 2 | KEFRIR 1:38.8 4-4-3 37.0| — 12 488 | %mE (EH)
8 4 XA xIVISATL—) 54.0 (3/4) (=) *()Hi) YTy RIZT 53747
R:T7 R4 Y<3y 7 B> auh)eE7> EvilLy RTr—L
.o N HD#{E :38. -16- . — MRITE (E#)
9 3 FUFHELHY 4 2 54% (173;78) 14-16-13 | 35.9 15 (414) /%;K@&%
v Ny aHATr BiLyY N E454%
. 4 2 | BEEA 1:38.8 1-1-1 37.9 — 11 446 | BREE (EH)
10( 1] 1 F2T74 R A51.0 (NF) ) SR A
LY LF14N—b B:ILN—TL/IN— NPt 6]
> S # 2 | ®RELRKA 1:39.0 11-9-10 |36.7| — 14 458 | IRAERIL (358)
EHH Yy b=Y—J 54°0 (1 1/a) <) M=
= Bidv h=b—h> E&HL BRI
. 2 o2 | ANEBHMR 1:39.0 9-6-7 |37.0| — 10 | 462 |REES (EH)
12/ 5/10| 74 ¥ ZLEY b 54.0 (2 E) (=) e
R:TTRRAFLL BILNTX— 24N 45
2, T H o2 | BBESE 1:39.4 15-14-13 [ 36.6 | — 4 432 | BINARK (i)
EH12 TJYVXTL—7 54.0 (2 1/2) (=) eyl
L:F15>8) B:eEI/ A heEX 2V NI 7
: # o2 | ANES 1:39.8 16-14-16 [37.0 | — 6 440 | =/ BHF F#)
14713\ F1 774 25— 54.0 2172 | FAE=
RTIRAFS N BRIy I%R FE%E
= : #t 2 | N EXF 1:39.9 11-6-12 | 37.9| — 2 456 | FRRE (EH)
15/7{14| * 17— F 54.0 (172) - (B) %0y h77 -4
7T RaxAr B:RoltEFL—Fz J=HrTp—L
$REA : -11- — NEFRER (i)
16 5| KT a—nyy— it 2 ] 1.(430).4 11-11-13 | 38.0 7 (4is) E¢§>kﬁ&
L:xA1=Gy7—2 B:IVRZILT1F L FARAR SR 5
@ 71 L
) 50.0-37.2
NA>ZA L | 12.7-11.2-11.9-12.3-12.8-12.5-12.2-12.5
® I —F—@EBIERL
13—F—
2= = (x1,9)7(4,15,16) (6,8) (2,10) (5,11,14)-3,12-13
30—4— 1,9-7,4,16(15,10,14) (8,11) (6,2,5) (12,13)3
40—+ — (x1,9) (4,7) (15,16) (8,10)6(2,11)14(3,12,5)13
[ N3
H OB 2 1,790H 714K 2-6 2,280M e E 1-3 2,950 JEHE 2-6-7 7,350
8 B 2 430M 2-7 750M B = 2-6 9,230 B 2-6-7 91,920/
6 270M 6-7 640 | | & H 2-6 24,070M
7 1304

ABICOVWTRDTEEERROODE. TR LIV,




